

(1)

$$\begin{aligned} \int_a^x e^{-\frac{t^2}{2}} dt &= \int_a^x \left(-\frac{1}{t}\right) (-te^{-\frac{t^2}{2}}) dt = \int_a^x \left(-\frac{1}{t}\right) (e^{-\frac{t^2}{2}})' dt \\ &= \left[ -\frac{1}{t} e^{-\frac{t^2}{2}} \right]_a^x - \int_a^x \frac{1}{t^2} e^{-\frac{t^2}{2}} dt = \frac{1}{a} e^{-\frac{a^2}{2}} - \frac{1}{x} e^{-\frac{x^2}{2}} - \int_a^x \frac{1}{t^2} e^{-\frac{t^2}{2}} dt \end{aligned}$$

$0 < a \leq x$  であるから、 $\int_a^x \frac{1}{t^2} e^{-\frac{t^2}{2}} dt \geq 0$  より  $\therefore \int_a^x e^{-\frac{t^2}{2}} dt \leq \frac{1}{a} e^{-\frac{a^2}{2}} - \frac{1}{x} e^{-\frac{x^2}{2}}$  (証明終)

等号成立は  $x = a$  のとき。

(2)

$$\int_3^b e^{-\frac{t^2}{2}+2t} dt = \int_3^b e^{-\frac{(t-2)^2}{2}+2} dt = e^2 \int_3^b e^{-\frac{(t-2)^2}{2}} dt$$

$s = t - 2$  とおくと、 $ds = dt$  であるから  $\int_3^b e^{-\frac{(t-2)^2}{2}} dt = \int_1^{b-2} e^{-\frac{s^2}{2}} ds$

$b > 3$  であるから、(1) より  $\int_1^{b-2} e^{-\frac{s^2}{2}} ds < e^{-\frac{1}{2}} - \frac{1}{b-2} e^{-\frac{(b-2)^2}{2}}$

$$\therefore \int_3^b e^{-\frac{t^2}{2}+2t} dt = e^2 \int_1^{b-2} e^{-\frac{s^2}{2}} ds < e^2 \left( e^{-\frac{1}{2}} - \frac{1}{b-2} e^{-\frac{(b-2)^2}{2}+2} \right) < e^{\frac{3}{2}} \quad (\text{証明終})$$